
T
H

IS
 D

R
A

W
IN

G
 IS

 A
 C

O
N

T
R

O
LL

E
D

 D
O

C
U

M
E

N
T

1 PLC
0 PLC

2 PLC
3 PLC
4 PLC

DIMENSIONS: TOLERANCES UNLESS
OTHERWISE SPECIFIED:

USED ON

LTR APVDDATEREVISION RECORD DWN

D
W

G
 N

O

SIZE
OF

C

12345678

A

B

DRAWING NO

D

SHEET REV

APVD

DWN

CHK

NAME

SCALE

MATERIAL HEAT TREAT

ANGLES

SURFACE TEXTURE

3306-7 (7/17)

A3TH
IS

 IN
FO

RM
AT

IO
N 

IS
 C

ON
FI

DE
NT

IA
L A

ND
 P

RO
PR

IE
TA

RY
 T

O
TE

 C
ON

NE
CT

IV
IT

Y 
LT

D.
 A

ND
 IT

S 
W

OR
LD

W
ID

E 
SU

BS
ID

IA
RI

ES
AN

D 
AF

FI
LIA

TE
S 

(T
E)

.  I
T 

MA
Y 

NO
T 

BE
 D

IS
CL

OS
ED

 T
O 

AN
YO

NE
, 

OT
HE

R 
TH

AN
 T

E 
PE

RS
ON

NE
L, 

W
IT

HO
UT

 
AU

TH
OR

IZ
AT

IO
N 

FR
OM

 T
E 

(w
ww

.T
E.

co
m)

.

TE Connectivity

BOW-28-171

BO
W

-2
8-

17
1

SATYA.M
02-Dec-19

V.FUZETTI
02-Dec-19

E.F.GASTALDI
02-Dec-19

NTS 1 1 B

SEE PART LIST -
-

mm

-

-

-

M8 P-TERM
B REDARWN IN CREO 02DEC2019 SM VF

89

76

46

PART LIST
ITEM QTY DESCRIPTION MATERIAL

1 1 TRI MOUNT PED M20 ALUMINIUM
2 1 POLY SMALL NAMEPLATE STAINLESS STEEL
3 4 HAMMERPIN No. 4 x 1/4" STAINLESS STEEL
4 1 WASHER SPG M20 ST-STL STAINLESS STEEL A2
5 3 M12 INSULATOR POLYMER
6 6 WASHER SPG M12 ST-GALV GALVANIZED STEEL
7 3 WASHER FLAT M12 ST-GALV GALVANIZED STEEL
8 3 SCREW M12x40 STL GALV GALVANIZED STEEL
9 3 SCREW M12x35 ST-GALV GALVANIZED STEEL

10 1 SCREW M20x55 S/S STAINLESS STEEL A2
11 1 WASHER FLATM20 ST-STL STAINLESS STEEL A2

PART NO

                     BM4583-000

8

6

7

8

6

7

1

6

9

9

6

5

6

9
11

4

10

8

6

7 3

2


	Sheet 1
	Views
	new_view_1
	new_view_2
	new_view_3



